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Q. Solveby Factorization 5x°=30x A ..
Q. Sﬂh&ﬂ‘l‘"“iﬂ:by factorization. ot Bl
Q. 1’!’&*‘Fm+nta.f 2 0. What is quulhuﬂt—fur‘muln" ' '
Q. : 11 Iﬂﬁﬂ of the methods for wlﬁu’l qp,admﬂa. cpuation.
& 18 = g |
Q. quadratic equation: = I
Q. Liprnml equutlun. *:';’*' E
0 Show that X* +v° = (X + y)(x #my)(x + 0°y)
Fyaluate o # ol + 1
Find the value of x, by using quadratic formula? \‘1— x+5=0 J’LI

Find the value of h, if the sum of the roofs is equal to 3-times the product of
ghie roots of the équation ix 4 (9 - 6k = Sh=0,

Q What is meant by symmetric function”
L

Proved hm the p:m]mt of three cube muh afuhity Is ane,

sk svi |¢m '1“1“18“ sitm that x—= 215 the factor of ad Fad =T F 2L z
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4 Wm=- g fnd thevalue “[-—_
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2 I Hooks Hoes the foree E applied to stretch a vprinh varies dieetly as the
astount ol elongation S and F=32bmhen 5 = 1.6 inchek. Find k. - '
Mix A
Q nl pow D{x) iswritten b pagtiat or linear factoess

Q. Wit i an fbontity? :

@ 3 =1Ewlinear fator GOSHELE iy by many mrﬁn’tfmﬂhﬂ are there?

Q. If g quadratic fActor ORCUES once ux A Iill:iﬁr nI I}{-\!- W the furm. ul'
partial fraction? W
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i What bs welghtod mgan?
0 Caleulate GML fur 0,8, 10,0, 2.7, 345 and 4.7 3
L, Define wsubset and give one eximple. i,
. Define an oo lunction, e
0. Beline Runge, Stamdard deviation and Varknet. : .F
Q Convert 12°23'38" 1o decimal degrees correet to three decimal phiees,
i) Findd F, when B =60"30", r = 5 mm, e
L. Write Pythagorean identities. ; e
Q. Verily that sin’0 = sinD - sin® cos'D,. 3 -
Q. Verify thar . | '“T? : ! = EHGIII:I ' "':‘
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O Define Measure of Digpersion, "
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-l-:mi_lll-. circumference of the uirtla_u_f radius deny,
Caleulnte the size of each angle of equitateral trinngle,
What is Phy thagoras of thearem?

What is the mensure ol the external angle of o regular octagon? .

‘Subjective Part (Section —11)

Solve the equation x” = Ix=d4's lll'h:r completing square,
Solve the fullowing equations by coupleling square:
(1) ax- Hdhv=a=0a=0 (i) 11"11-‘1'15..-.“

Solve the following equitions using quadratic formulag " Phi sl
(i) 4 -I4=3k (i) I +8x+2=0 %Y -
Lind k, i[ the roots of the equation e 3 A _
1,]!.1'"- e+ Die=(le+ 1) =0 ure equal, W k2~ i s N
Fing the oatare of the roots of the following given quadratic equations dol
surify the rosult by seilving the cquations:
() -.‘.w'-'-l:' (i) I+ Tx=13=0
Find thevialue of Kk, il the rtats of the !'uillmil!g tql.hlﬁl;l-!h i uili il
(i (2k - )8 + 3k +3=10 Gi)  xf +1[|-.+*hf¢1k+-ll—ll
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{ii) [ t+\{_1}‘*'{—'lf*-,r—3)“ )
Peave that, -H;_. = Jxyz ={!:-I- YR AT Wy o ) (x e 3
Fitk! >, i the ron |~...A_,‘.||I‘Ihc cquatian x° -"*':-*11—“.1.“1'4'3 the relation I'}EEB#?
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0. Find the Foureth proportional to: :
(1 g - 11x + 24, (x — 3), Sx" = 40’ ;
L) |:J i q’. pz - ql. ||’ = My + t]: 3

0 Using thearem of componendao-dividendu, solve the equation 'i
itdeh=3 4 '3
Va3 -afx-3 3 ¢ .

0 Dy aries jaintly ay qand &l inyversely as sand ?, p =40, when i =% r =53
=3 0= 2, Find p in terms of q, ¥,s and & Also find (he value of powhen g =
~Lr=d s=Ynnl t==1. - .

Q. The steength “s™ of & rectangular beam varies divectly asthe hreuditich Auie =
the square of the depth d. IT u hesm Dim wide and 12 em deep with support
FIRL, Wit wetthtahon of T80 wide and Dein e pwill SUppores i
T varies dire tly s v oand fiaversoly s the nroduel :l.."‘. el =2 when's
R 4 2 Find the valneofu which x =6, y =3 =2

. In Hook's luw the foree F oapplicd to stecieh o spring varies divectly as the

maunt of clongation S'and ¥ =320 when S = 1.6 in.
Fipd (1 S when E=50/h (i F whien'S =0, i
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